GRADE10 [ ]

|. Vocabulary (20 Marks)
Choose from a, b, c and d to complete the following sentences:

(4x5=20)
1-An .o is a medical condition that causes difficulties in
breathing.
a- shock b- asthma
c- tumour d- loan
2- We will always do our bestto ................... problems amicably.
a- diminish b- draw
c- recharge d- resolve
3- Dinosaurs have been ...................... for millions of years.
a- extinct b- charitable
c- frequent d- hazardous
4- The traffic .................... in the city gets worse during the summer.
a- software b- anniversary
c- loan d- congestion

lI. Grammar (10 Marks)
Do as shown between brackets: (2 X 5= 10)
5- If you freeze water,...........c.cceccce.... (Complete)
a- If you freeze water, it becomes solid.
b- If you freeze water, it would become solid.
c- If you freeze water, it became solid.

6- The film was horrible. I wish | (not, see ) it. (Correct the verb)
a- Thefilm was horrible. | wish | didn't see it.
b- The film was horrible. | wish | haven't seen it.
c- The film was horrible. | wish | hadn't seen it.



1. Writing (30 Marks)

Plan and write a paragraph of 6 sentences about " The advantages
of renewable enerqy".
Write your outline (5 Marks)

Introductory sentence:

Supporting details:

Concluding sentence:

Write your topic here (25 Marks)




